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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 

◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

%UÔX›◊Tˆ ( Economics ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

◊•Tˆ›Ã^ Yy ( 2nd Paper : Macro-Economics ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) LÁTˆ›Ã^ %ÁÃ^ Y◊Ã[˝]Á„YÃ[˝ ]…_Ó ae„^ÁLX Yà˘◊Tˆ [˝ÓÁFÓÁ 

EıÃ[˝”X* %ÁÃ^GTˆ Y◊Ã[˝]ÁY Yà˘◊Tˆ„TˆC ÂEıX LÁTˆ›Ã^ 

%Á„Ã^Ã[˝ AEıc˜O ]ÁX YÁCÃ^Á ^ÁÃ^ TˆÁ [˝ÓÁFÓÁ EıÃ[˝”X*  

 (F) Y…SÔ ◊X„Ã^ÁG [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? zıÓÁ◊aEıÓÁ_ Tˆ„√º¯ 

◊Eı\ˆÁ„[˝ Y…SÔ ◊X„Ã^ÁG Y“◊Tˆ◊úˆTˆ c˜Ã^ ? 

 (G) IS-LM ]„Qˆ„_Ã[˝ aÁc˜Á„^Ó \ˆÁÃ[˝aÁ]Ó ◊XSÔÃ^ Yà˘◊Tˆ 

◊[˝‰`¿bS EıÃ[˝”X* \ˆÁÃ[˝aÁ„]ÓÃ[˝ [˝Ác˜O„Ã[˝ %[˝◊ÿöˆTˆ ◊[˝≥V«Ã[˝ 

TˆÁdY^Ô ◊[˝`V [˝ÓÁFÓÁ EıÃ[˝”X* 

 (H) ◊[˝◊X„Ã^Á„GÃ[˝ Y“Á◊‹ôˆEı Vl˘TˆÁ EıÁ„Eı [˝„_ ? ]…_W˝„XÃ[˝ 

Y“Á◊‹ôˆEı Vl˘TˆÁ A[˝e ◊[˝◊X„Ã^Á„GÃ[˝ Y“Á◊‹ôˆEı Vl˘TˆÁÃ[˝ 

T«ˆ_XÁ]…_Eı ◊[˝[˝Ã[˝S ◊VX* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) zıÓÁ◊aEıÓÁ_ Tˆ„√º¯Ã[˝ %X«]ÁXm◊_ ae„l˘„Y %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(F) %UÔX›◊Tˆ„Tˆ ◊ÿöˆÃ[˝TˆÁ Ã[˝l˘ÁÃ[˝ LXÓ %Á◊UÔEı X›◊TˆÃ[˝ \…ˆ◊]EıÁ 

◊[˝‰`¿bS EıÃ[˝”X* 
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(G) GQÕˆ Â\ˆÁG Y“[˝STˆÁ C Y“Á◊‹ôˆEı Â\ˆÁG Y“[˝STˆÁÃ[˝ ]„W˝Ó 

YÁUÔEıÓ %Á„_ÁªJÙXÁ EıÃ[˝”X* Â\ˆÁG %„Yl˘„EıÃ[˝ 

È[˝◊`rÙÓm◊_ Eı› Eı› ? 

(H) ]«V–Áÿˆïı›◊Tˆ, Â[˝EıÁÃ[˝±ºˆ C Y“TˆÓÁ`ÁÃ[˝ a+EÔı ◊[˝bÃ^Eı 

Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(I¯) zıÓÁ◊aEıÓÁ_ ]„Qˆ„_ %ÁÃ^ ◊XW˝ÔÁÃ[˝„S aá˚Ã^ C 

◊[˝◊X„Ã^Á„GÃ[˝ \…ˆ◊]EıÁ ◊[˝‰`¿bS EıÃ[˝”X* 

(ªªJÙ˜) c˜ÓÁÃ[˝Qˆ-ÂQˆÁ]ÁÃ[˝ Y◊Ã[˝EıÁPˆÁ„]ÁÃ[˝ ac˜X›Ã^ (Warranted) 

[˝ ◊à˘Ã[˝ c˜ÁÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO ◊[˝`V [˝ÓÁFÓÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) LÁTˆ›Ã^ %ÁÃ^ Y◊Ã[˝]Á„YÃ[˝ %a«◊[˝W˝Ám◊_ Eı› Eı› ? 

(F) mSEı Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

(G) IS ÂÃ[˝FÁ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 

(H) Eı› Eı› EıÁÃ[˝„S Â_Á„EıÃ[˝ XGV %„UÔÃ[˝ ªJÙÁ◊c˜VÁ UÁ„Eı ? 

(I¯) XGV YªK˜„≥VÃ[˝ ZgıÁV Eı› ? 

(ªJÙ) Ã[˝ÁLÿëˆ X›◊TˆÃ[˝ a„Ü %Á◊UÔEı X›◊TˆÃ[˝ YÁUÔEıÓ Eı› ? 

(ªK˜) ªJÙÃ[˝] %ÁÃ^ %X«Eıî [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^  ? 

(L) [˝ÓÃ^[˝ ◊à˘L◊XTˆ ]«V–Áÿˆïı›◊Tˆ Eı› ? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 EEC-II (UT-80) EEC-II (UT-80) 2  

B.A.-5157-W   [ Turn over B.A.-5157-W  

English Version 

 
1. Answer any two questions : 20 × 2 = 40 

(a) Explain the value added method of 

measurement of National Income. Explain 

why income method gives the same 

measure of National Income. 

(b) What is meant by full employment ? How is 

full employment attained in classical  

theory ? 

(c) Analyse the determination of equilibrium 

with the help of IS-LM model. Clearly 

explain the significance of points away from 

the equilibrium. 

(d) What is marginal efficiency of investment ? 

Give a comparative description of marginal 

efficiency of capital and marginal efficiency 

of investment. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss, in brief, the assumptions of 

classical theory. 

(b) Analyse the role of monetary policy in 

maintaining stability of the economy.  

(c) Discuss the differences between average 

propensity to consume and marginal 

propensity to consume. What are the 

characteristics of consumption function ? 

(d) Discuss the theory that connects inflation, 

unemployment and expectations. 

(e) Analyse the role of saving and investment 

in income determination under the 

classical model.  

(f) Clearly explain the concept of warranted 

rate of growth in Harrod-Domar model. 
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3. Answer any four questions  : 6 × 4 = 24 

(a) What are the difficulties in measurement of 

National Income ? 

(b) Explain the multiplier theory.  

(c) What is meant by IS curve ? 

(d) For what reasons do people have demand 

for liquid money ? 

(e) What is liquidity trap ? 

(f) What is the difference between fiscal policy 

and monetary policy ?  

(g) What is meant by absolute income 

hypothesis ? 

(h) What is cost push inflation ? 

    


